Economic Threshold Worksheet

European Corn Borer

(1) ___% of 100 plants infested x ___average # of borers/plant1 = ___average borers/plant.

(2) ___average borers/plant x 5% yield loss per borer = ___% yield loss.

(3) ___% yield loss x ___expected yield (bu/A) =___ bu/A loss

(4) ___bu/A loss x ___$ expected selling price/bu =___ $ loss/A

(5) $__ loss/A x___ % control2 = $ ___ preventable loss/A

(6) $___ preventable loss/A - $ ___cost of control/A = $ gain (+) or loss (-) per acre if treatment is applied

1 Determined by checking whorls from 20 plants.

2 Assume 80% control for most products

IF
Scouting shows that 67% of plants are infested, with an average of 2 borers per infested plant and 
The expected yield  is 120 bu/A and
The expected selling price/bu is $2.25 and 
The cost of control/A is $15.00
Is it economically worthwhile to apply an insecticide?  __________________________

Why or why not?  
